King Fahd University of Petroleum and Minerals

Department of Mathematical Sciences
Math 101 {Calculus I)
Major Exam # 1
Semester I, 2004-2005 (041)

\
1

V

s

[ Y
LY I S |

v

¢

Name: ,/4\
Y

ID #:

Section #: o

e Show complete work for full credit.

o Use of graphic calculators and mobile phones or any other equipment is not allowed

in this exam.
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(d} Consider the function f(x) = z® + 1 and the point P(2, f(2)).
(i) Find the slope of the graph of ¥ = f(z) at the point P.

(il) Find the instantaneous rate of change of y with respect to z at the general
point z == 2.
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